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The main objective of a bridge is to connect
LANS together

Bridges scan a device's MAC address

Data is sent out using data packets

Connects networks together that use the
same protocols

Bridges do not make use of routing tables

A bridge has only two ports
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Six from:

Comparison

Both are network devices

Both are hardware devices

Both have computers and devices connected to them

Both send data to devices//Both are communication devices

Contrast

In a hub data packets/data are broadcast to every device connected to it
A hub is less secure than a switch in distributing data

Switch checks the data packet

Switch sends to an appropriate device

To gain full marks both contrast and comparison is needed
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